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But we learnt, he is liable — 217 NN

OVERVIEW

WX 27 taught that if one was 92181 912 from two 2°°», he is Mo, The X3 asked,
but we learnt in a Xn»72 that he is 2>1. The XM} answered that *wX 27 1s in a case
where he was "0 1Ip2 972 and the X2 where he was 717221 71912 9712, There
is a dispute between "7 and Mo0IN as to which Xn»72 the X3 cited.

= 95957 N9 13907 109D WO
“"w9 explained that when the X723 asked '2»n X1 it was referring to the
previous XN%12 on this 7y which stated nXvR 20 77" ORI M2 X

moon disagrees:
= 990N D192 12D XPIT ¥IYN 19291 N9 NY 19NDPINT INNDT 2PNYY 13939D NYP)

And the "9 has a difficulty; for according to how we established the Xn>92 that
when it states 2’17 77°2 oK), it means that he was 7712 with a sieve or a strainer, it

would seem that it is only forbidden if he was 7712 for eating later on that day —
- 399 1925 192 12°9N INYNY DaN

However if he was 7712 to eat immediately it is permitted even 779221 72913 -
=13 992 NON 1929) NDIAT YNIYN (x,1],0v nt oy NNXAT NP P992)

However in the first »99 of 71¥°2 NOon it seems that selecting 79221 771212 is 7OK in

any manner (even if it is In9X? 712K?) -
- 1192531 1932 XY YAN MHNNNDY P2 19979 999 0X9IN Y9N 122 )N

For the mwn teaches, ‘77''2 maintains, he selects in a normal manner with a

SNy 12 but not with a 79221 792° -
= 40192 120 ANYNY 122 MY XD

And the mwn does not distinguish whether it is 9n®X% or whether it is later 33

2193; rather in all instances (even In?RY) it is forbidden.

Lxoanm 7" 72
2 This is in addition to the question NN asked on >"wA previously 7°pnn 7"72 [TIE there footnote # 6].
3 »aR explained the previous Xn12 (which, according to >"w, the X3 means by saying 2°1 ®1nm) that when it says
92IXY M2 it means INPRY, and when it says NXvN 21 77°2 OXY it means 01°2 12%. We are now saying that when that
Xn»72 ruled 21 it meant 77221 71912. Therefore we must assume that the X7 of the Xn>12 which states that 2712
9511 (which means 2n%R? [as »ax explained]) is even if he was 77221 7912 770
4 This would contradict our X073, according to >"w15 that 09X it is M~ even 771231 7932, See footnote # 6. [In
addition (to "21 IN7X7 172 %91 K?) the 7"2 there are arguing with w"2 who state 72181 923 9112 indicating that he is
9712 to eat INPRY, so presumably the 7"2 are discussing the same situation, namely 2287 7112.]
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mooIn has an additional question on >"wA5:
= $AND ININY 1195 0192 125 972 1N 55P¥5T XOIWY NINIY T

And additionally, according to X previously, his ruling on 2wz 12 is
seemingly like 2n%X> according to 2R (that each is 71m» according to their respective
opinions) -
= £93 27 979N 1929 N9 XMWY *9V )5 ON)Y
So therefore according to XN it is permitted to be 79221 771212 7712 even for later
2%°%2 %2 -
— %0992 12 MN9N HaY 9ON NXAT PPN2INNI

However in the 73w of 773°2 it is at least 999X to be 7712 for a2 12!’

moon offers his interpretation:
= 453 99932 99N DIYDT NNIIAT PN 139290 NN

And it is the view of the 5" that the previous Xn»93 (of 21 7772 X)) is

discussing where he is 9712 by hand (and therefore it is permitted 2n9x>) -
= INVN 29N ININD 199N EXIN INPINN NNPI2 N929) NI NY MIPINNT NI

However here where the X713 establishes a Xn™92 by 9221 1181, that is another

Xnm2 and there he is NRWR 2977 even if he was 717112 to eat it IN»KRY -
- ANYXD 9N22 1227 73 YW YT IRIN 13239 WIS TIND $RUN 1)

And so it seems from the explanation of the 1''%, who explained that there are

three laws for one who is 9712 to eat immediately -
$DINLN 112991 1929 N9 109N YAN IV MNNNAY PNIPA TAYNNY 99N 19aY

That if he is 792 72 it is 727N 902, and by 120 1P he is 7K Pax we, and
by 17221 7151 he is nNwR 2097,

SUMMARY

5 X9 interpreted the Xn»72 of 931X 7712 to mean that he is permitted to be 212 12% 913, but if he is 1% 93 he is
2»n. This is parallel to »ax who rules In2R? it is permitted and 01212 he is 2.
¢ This question is that even if one will answer that the ruling of 7"2 in 7¥°2 is only if it is @12 127 but not IN7X?,
where it will be °mn (so there is no contradiction to »aX [see footnote # 4]), nevertheless we will have the
contradiction on X7 who permits 01°2 12 even by 71231 7193, which is certainly prohibited by 71"2.
7 The mwn there stated that according to 7"2 one may be »17mM 1132 92 but not with 77221 7191 on v"v. Obviously
we are not discussing that he is 912 for the next day, for that is certainly forbidden, therefore at most the ruling of
"2 is concerning 012 137 and nevertheless 71231 71912 is MoX. However (according to >"w19) it would seem that R?7W
maintains that 012 127 it is 7N even 71231 1932, See footnote # 3. See ‘Thinking it over’ # 1.
8 That Xn>>2 merely stated NXWLA 2°°7 I 772 9981 97°32; it did not state any 7 (just like the statement of >wX 217
except it stated 21 instead of Md). See ‘Thinking it over’ # 2.
% This is the ruling of »ax in the first Xn»92.that I7R? 721 it is N,
19 This is the ruling of >wx 21.
' This is the ruling of the later Xn>>12 (footnote # 8).
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It is 9N to be NPKR? 7°2 712, however by "many NIp it is MOK Hax 7wy, and by 1792
71207 he is nRvM 271 (even if it is INPKRY).

THINKING IT OVER
1. mooin asks that according to >"w1o there will be a contradiction to RX?Ww.!2
However s'X71 view has been discredited, so what is mpo1n question?!!?

2. According to noin that the X713 is citing another Xn>>72 (that he is nxon 2»n),'
why did not the X723 ask that the two nin>72 contradict each other (for the previous
8n*>"2 rules that A AnKXY). Additionally, why indeed did the X723 not ask on 27
WX, from the previous Xn*72 where it rules either N or NXYA 21, but there is no
ruling of MOX 728 WD as *WX 27 maintains? !

12 See footnote # 7.
13 See n" .
14 See footnote # 8.
15 See o"mm and o1 "I,
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